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Instruction : Answer to all questions.

15

15

15

1 Ram Construction Company Ltd. needs a Machine costing 20

Rs. 4,00,000 for the contract of road construction worth
Rs. 30,00,000. For this purpose the company has the
following two options.

Option-1 Buying the Machine by taking loan of Rs. 4,00,000
repayable in 5 installments of Rs. 80,000 each
along with interest at the rate of 18% per annum.

Option-2 Leasing the Machine for which annualize lease
rent is Rs. 1,20,000 upto 5 years. The lessor
charged 1% of the cost of Machine as processing

charge in the first year.
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As a tax consultant, advice the company management which

option should be accepted keeping in view the following

additional information.

(a)
(b)

(©

Corporate Tax Rate is 30%.
Rate of depreciation 1s 25% on written down value for
machine.

P.V factor of Rs. 1 for 5 years is

Year 1 2 3 4 5

PV.factor [ 0.909 [ 0.826 [ 0.751]0.683 [ 0.621

OR

1 Shyam Company Ltd manufactures computer game 20

'ABC'. The company has the option to either make or buy

from market component 'A' used in manufacture of the

computer game ABC. The details are available in this

reference.

(1) The component A will be manufacture on new machinery
costing Rs. 2,00,000. Life of machinery is 10 years.

(2) Rate of depreciation is 25% on written down value.

(3) Income tax rate is 30%.

(4) Discounted at the rate of 10%.

(5) Other details for production

(a) Every year company makes 10,000 components
and for this total material is required 50,000 kg.
Material cost is Rs. 20 per kg.

(b) Total labour hours are required 50,000. Labour
charge is Rs. 1.85 per hour.

(¢) Forman's salary is Rs. 20,000 per month.

(d) Other variable overheads Rs. 14,000 per month.

PAS-16080001050403 ] 5 [ Contd....



This component 'A' is available in the market at Rs. 160.
From the above particulars give your advice to company
whether to purchase this component from the market or to
manufacture?

Present Value Factor at 10% discount rate is :

Year 1 2 3 4 5 6 7 8 9 10
PV.factor [ 0.909 [ 0.826 [0.7510.683 | 0.621]0.564 [ 0.513|0.467 | 0.424 | 0.386

2 Capital structure of Roni Ltd, Koni Ltd and Moni Ltd 20
and various rate of return and some other details are given
here under. State the capital structure of which company

1s best and why?

Capital Structure Roni Ltd Koni Ltd Moni Ltd

(Rs.) (Rs.) (Rs.)
Share Capital 20,00,000 16,00,000 4,00,000
Loan NIL 4,00,000 16,00,000
Total Investment 20,00,000 20,00,000 20,00,000

Other details :

(a) Rate of interest is 10%.
(b) Appreciate rate of income tax is 30%.
(c) Rate of return : (1) 256% or (2) 10% or (3) 8%
OR
2 Mihir Company Ltd is a widely held company. For the 20
development of business it requires Rs. 1 crore. This amount

gets by following ways.

Particulars Option-1 Option-2 Option-3
Equity Share Capital 1,00,00,000 40,00,000 20,00,000
14% Debentures — 40,00,000 30,00,000
18% Loan — 20,00,000 50,00,000
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Profit before tax is 25%. Average dividend paid in past years
is 20%. Appreciate rate of incometax is 30% and company
is liable to pay 10% incometax on dividend distributed.

Which will be best option?

3 What is meant by Company as per Income tax 15
Act, 1961 ? Discuss types of company?
OR
3  Write a detailed note on Minimum Alternative 15

Tax (MAT).

4  What is Tax Planning and Tax Management? Differentiate 15
Tax Planning and Tax Management.
OR
4  What is Tax Avoidance and Tax Evasion? "Tax Avoidance 15
and Tax Evasion are the same." Are you agree with the

statement? Give arguments in support of your answer.
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